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1.	
  Convert	
  	
  2x103	
  cm2	
  into	
  m2	
  
a)	
  2x101	
  m2	
  	
   	
   c)	
  2x100	
  m2	
  
b)	
  2x10-­‐1	
  m2	
   	
   d)	
  2x10-­‐2	
  m2	
  

	
  
2.	
  Which	
  is	
  true	
  during	
  uniform	
  circular	
  motion?	
  (circle	
  all	
  that	
  apply)	
  	
  
a//	
  =	
  0	
   	
   a⊥	
  =	
  0	
  	
  	
   |a|	
  =	
  0	
  	
   vφ	
  =	
  0	
   	
   vρ	
  =	
  0	
  
	
  
3.	
  True	
  or	
  false	
  	
   To	
  find	
  the	
  angle	
  for	
  which	
  a	
  projectile	
  will	
  reach	
  its	
  maximum	
  

horizontal	
  distance	
  (range)	
  you	
  need	
  to	
  know	
  the	
  projectile’s	
  
initial	
  velocity.	
  

	
  
4.	
  True	
  or	
  false	
   Increasing	
  a	
  projectile’s	
  initial	
  velocity	
  increases	
  the	
  maximum	
  

horizontal	
  distance	
  (range)	
  but	
  not	
  the	
  maximum	
  height.	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  


